EARAROBREBRT —5 XN—ZXBISH—F 202355878 (B) 10R#6H

MW 5S%3m KisFl (RS [ER) 58 BRI
[#E<] 1 7% :5,500,000 . 23 :2,200,000 3 . 33 :1,400,000 3 . 43 :830,000H 53 :550,000
FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
<= _ B3 | HRE— 1:36.7 2-2 3741 8.3 | 1 454 | BEFE (FR)
BYSAXF)— bk 56.0 ) ) | @ S4IND2
RUAVF4—R B:F—F—J1—F2R YHAORES
o AT :37. - . . BHZ— ER)
IS A 3 | EEx 1(327)0 5-3 37.5| 85.6 | 2 zzgf L3
R:d=ILRFPI9— B:HZY il =R
—hRvEO7U—R i3 5%01’3% 1:(327).3 1213 |36.8| 82.2 | 15 (4_5(; zﬁi}ﬂgz &R
R:Z2~hOVIUI—Y B:ZhvEOYV1ST 6 £ 2
. N o FaMEL 3 - BREE (FR)
®FO—T 7w/ S— # 3 | EE 1(/3;)3 13-12 [36.9] 83| 4 (538) j~pf§74y
R:Kingman #&:3—)LF>I0O—7 Godolphin
TN o3 | HMERS 1:37.4 5-5 37.7] 8.9 | 3 | 504 |RERK (RR)
5158 | O—RYYNAL 56.0 1/2) -6) %) O—rh-2757
LX:O0—RAFO7 B:94)LRID TATAT7—L
~,3% SR :37. 5 . . EARE (ER)
6 3| 9A VYR 329 (1735374) AR ‘:g;) E&’fﬁk) DAY
RidI=ILRYY T 81V VYDIL ARETa—T7—LA
S~ REEC : - BKAE (R
1l vy h=FvF v 3 | EE 1(.33/74.)6 1-1 38.3]80.6 | 6 (4_2; ;;ﬁz( )
RFIYUISYT BYYM—FAF ERMLLEHIS
— f 3 | BERK 1:38.1 10-10 | 38.1| 75.8 | 11 | 408 |BELA— (EFER)
8 4| 1Y 54.0 3) ¢4 | @ FrOvhIrz—Li
RIE—UR B:ZARTFOSA K J—4YITr—I
< X : - b ed
o 5| NTAT VLR ®3 T 18] vs (w2l ol | e |HERZ GO
RTFIFPITRATUR BNTAFIARAN A/ ET7—L
T EDEE :38. = . . ROBR (ER)
105 9| FWFYRIL—1 # 3 | B9 1(73?:; 1-10 [38.0| 75.6 | 8 (4_322) AT
RiARSRZ—8 B:RITFZI—LR HBT7—L
w S~ 4 3 | AHEE 1:38.2 8-8 38.3] 75.1 | 10 | 506 |KIESA (FR)
nggn| 721y b= 5.0 kY7 o) | AREHVILD
RiIAIATv— BOIAT=—=T v /=Y Tr—I
= 5 s 3 | AURAIZ 1:38.3 13-13 [37.6| 733 | 9 | 462 |RBIBEK &R
12/ 8|14 TA—F 1L #53.0 as» o) | =ARL
RYR/TZVY B:F4—FFRY I—IWRFP v FhYI=—
. N ERHNT :38. - . . JIIFEE (FER)
1317]12| 7Y/ EYIRZ "3 et B B3 e
RUFIWRT 4= B:E—RTIAEU— HASARIw b
=~ =B :38. = . . JIFEE (ER)
14/ 8|15 F—KHS VR * 3 | B 1(13/82)4 2-3 39.0| 74.1 | 12 zzgf lhid s
R:IVA—T B:h—KDIVNIL Mg =8
e — HOEX : - HAES (FER
1517013 ¥FIL=S oL * 3 | BOR (13319/2(; 4-5 39.5] 69.5 | 7 (4_224) m@?( )
R:Iv2RI991A B:J7rI—d— ke
[ BN
Enty) 49.4-37.4
NOYIA L | 12.6-10.9-11.6-12.2-12.0-12.7-12.1-12.6
@ 1—F—&BIE(I
13—7F—
20—7+—
Ja=7r= (¥1,10,15)13(2,8)3(5,11)4,9-7(6,12,14)
40—7F— (+1,10) (2,15) (5,8,13) (3,11) (4,9)6(7,14)12
0 ILRE
BB 10 1708 | | 91 & 2-10 170/ AR 2-6 260M 3EE 2-7-10 17,080
BB 10 110H4 7-10 8,030M o 18 2-10 270 3iEH 10-2-7 44,150/
2 1309 2-7 10,4904 BB 10-2 3909
7 2,600

ABIC OV TRUTEREERRODDZE. THRIIZEL.




